

**PROPERTIES OF CERTAIN NEW SUBCLASSES OF SOME
ANALYTIC AND UNIVALENT FUNCTIONS IN THE OPEN UNIT
DISK**

J. O. HAMZAT AND J. OLALERU

ABSTRACT. The focus of the present work is to introduce and study two new classes of analytic and univalent functions, $S_{\alpha,n}^*(\gamma)$ and $\mathcal{K}_{\alpha,n}(\gamma)$ relating to analytic function $f_{\alpha,n}(z)$ given by

$$f_{\alpha,n}(z) = \frac{z}{(1 - z^\alpha)^n}, \quad (\alpha > 0, n > 0).$$

Several fascinating properties such as coefficient inequalities, radius problem and partial sum among others for functions $F_{\alpha,n}(z)$ belonging to these new classes of analytic functions are investigated .

2010 *Mathematics Subject Classification*: 30C45.

Keywords: “starlike”, “convex”, “analytic”, “univalent”.

1. INTRODUCTION AND DEFINITIONS

Suppose that A denote the class of functions $f(z)$ given by

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \tag{1}$$

analytic in the open unit disk $D = \{z \in \mathbb{C} : |z| < 1\}$ and normalized with $f(0) = 0 = 1 - f'(0)$. Also let S denote the subclass of A which are univalent in D . Further, let $S^*(\gamma)$ denote the subclass of S consisting of the functions $f(z)$ of the form (1), which are starlike of order γ ($0 \leq \gamma < 1$) in D . A function $f(z) \in \mathcal{K}(\gamma)$ is said to be convex of order γ ($0 \leq \gamma < 1$) in D if $f(z) \in S$ satisfies the condition that $zf'(z) \in S^*(\gamma)$, (see[1, 3, 4, 8]).

In view of the above definitions for classes $\mathcal{K}(\gamma)$, $S^*(\gamma)$, S and A , we conclude that

$$\mathcal{K}(\gamma) \subset S^*(\gamma) \subset S \subset A$$

and $f(z) \in S^*(\gamma)$ if and only if

$$\int_0^z \frac{f(t)}{t} dt \in \mathcal{K}(\gamma).$$

Also

$$f(z) = \frac{z}{1-z^2} = z + z^3 + z^5 + \dots \quad z \in D \quad (2)$$

is in the class $S^*(0) \equiv S^*$ while the function $f(z)$ of the form

$$f(z) = \frac{z}{1-z} = z + z^2 + z^3 + \dots \quad z \in D \quad (3)$$

is in the class $\mathcal{K}(0) \equiv \mathcal{K}$. In view of (2) and (3), we can write that

$$f_\alpha(z) = \frac{z}{1-z^\alpha} = z + \sum_{k=1}^{\infty} z^{1+k\alpha} \quad (z \in D) \quad (4)$$

for some real $\alpha(0 < \alpha \leq 2)$, see [2], [5] and [6].

However, in the present work, the authors present a more generalized form of (4) whereby

$$f_{\alpha,n}(z) = \frac{z}{(1-z^\alpha)^n} = z + \sum_{k=1}^{\infty} \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) z^{1+k\alpha} \quad (z \in D) \quad (5)$$

for some real $\alpha(0 < \alpha \leq 2)$ and $n > 0$.

Further, we discuss some properties of function $f_{\alpha,n}(z)$ defined by (5) where the principal value for $z^{k\alpha}$ is considered. Using (1) and (5), we introduce a new class $A_{\alpha,n}$ of analytic functions $F_{\alpha,n}(z)$, a convolution (or Hadamard product) of $f(z)$ of the form (1) and $f_{\alpha,n}(z)$, which is usually denoted by $f(z) * f_{\alpha,n}(z)$, and with series expansion in D such that

$$F_{\alpha,n}(z) = f(z) * f_{\alpha,n}(z) = z + \sum_{k=1}^{\infty} \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) a_k z^{1+k\alpha} = f_{\alpha,n}(z) * f(z) \quad (z \in D) \quad (6)$$

for some real $\alpha(0 < \alpha \leq 2)$, $n > 0$ where the principal value for $z^{k\alpha}$ is chosen.

Now, if $F_{\alpha,n}(z) \in A_{\alpha,n}$ satisfies the condition that

$$Re \left(\frac{z F'_{\alpha,n}(z)}{F_{\alpha,n}(z)} \right) > \gamma \quad (z \in D)$$

for some real $\gamma(0 \leq \gamma < 1)$, then we say that $F_{\alpha,n}(z) \in S_{\alpha,n}^*(\gamma)$.
 Also if $F_{\alpha,n}(z) \in A_{\alpha,n}$ satisfies the condition that

$$Re\left(1 + \frac{zF_{\alpha,n}''(z)}{F_{\alpha,n}'(z)}\right) > \gamma \quad (z \in D)$$

for some real $\gamma(0 \leq \gamma < 1)$, then we say that $F_{\alpha,n}(z) \in \mathcal{K}_{\alpha,n}(\gamma)$.
 In view of the above definitions we can write that $F_{\alpha,n}(z) \in \mathcal{K}_{\alpha,n}(\gamma)$ if and only if $zF_{\alpha,n}'(z) \in S_{\alpha,n}^*(\gamma)$ and that $F_{\alpha,n}(z) \in S_{\alpha,n}^*(\gamma)$ if and only if

$$\int_0^z \frac{F_{\alpha,n}(t)}{t} dt \in \mathcal{K}_{\alpha,n}(\gamma).$$

2. SOME PROPERTIES OF FUNCTIONS $f_{\alpha,n}(z)$

The results presented in this section include certain properties of functions $f_{\alpha,n}(z)$ and $F_{\alpha,n}(z)$ with series expansions given by (5) and (6) respectively.

Theorem 1. *Let the function $f_{\alpha,n}(z)$ be given by (5). Then $f_{\alpha,n}(z) \in S_{\alpha,n}^*\left(\frac{2-n\alpha}{2}\right)$ for $(0 < \alpha \leq 2)$, $n > 0$ and $f_{\alpha,n}(z) \in \mathcal{K}_{\alpha,n}(\gamma)$ for $(0 < \alpha < 1)$, $n > 0$.*

Proof. If $f_{\alpha,n}(z)$ is given by (5), then

$$\begin{aligned} Re\left(\frac{zf_{\alpha,n}'(z)}{f_{\alpha,n}(z)}\right) &= Re\left(\frac{1 + (n\alpha - 1)z^\alpha}{1 - z^\alpha}\right) \\ &= 1 - n\alpha + n\alpha Re\left(\frac{1}{1 - z^\alpha}\right) \\ &= 1 - n\alpha + n\alpha Re\left(\frac{1}{1 - e^{i\alpha\theta}}\right) \quad (0 < \theta < 2\pi) \\ &= 1 - n\alpha + \frac{n\alpha}{2} = \frac{2 - n\alpha}{2} < 1 \end{aligned}$$

which shows that $f_{\alpha,n}(z) \in S_{\alpha,n}^*\left(\frac{2-n\alpha}{2}\right)$ for $(0 < \alpha \leq 2)$ and $n > 0$.
 In like manner, suppose $f_{\alpha,n}(z)$ is given by (5), then

$$\begin{aligned} Re\left(1 + \frac{zf_{\alpha,n}''(z)}{f_{\alpha,n}'(z)}\right) &= Re\left(\frac{1 + (\alpha(n+1) - 1)z^\alpha}{1 - z^\alpha} + \frac{\alpha(n\alpha - 1)z^\alpha}{1 + (n\alpha - 1)z^\alpha}\right) \\ &= \alpha(n+2) - 1 + (2 - \alpha(n+1))Re\left(\frac{1}{1 - z^\alpha}\right) - \alpha Re\left(\frac{1}{1 + (n\alpha - 1)z^\alpha}\right) \end{aligned}$$

$$\begin{aligned} &= \alpha(n+2) - 1 + (2 - \alpha(n+1))\operatorname{Re}\left(\frac{1}{1 - e^{i\alpha\theta}}\right) - \alpha\operatorname{Re}\left(\frac{1}{1 + (n\alpha - 1)e^{i\alpha\theta}}\right) \\ &= \frac{\alpha(n+3)}{2} - \alpha\left(\frac{1 + (n\alpha - 1)\cos\alpha\theta}{1 + (n\alpha - 1)^2} + 2(n\alpha - 1)\cos\alpha\theta\right) \quad (0 < \theta < 2\pi). \end{aligned}$$

Letting $r = \cos\alpha\theta$ and $q(r) = \frac{1+(n\alpha-1)r}{1+(n\alpha-1)^2} + 2(n\alpha-1)r$, it is trivial to show that

$$q'(r) = \frac{\alpha(n\alpha - 1)(n\alpha - 2)}{[1 + (n\alpha - 1) + 2(n\alpha - 1)r]^2} > 0 \quad (0 < \alpha < 1; n > 0).$$

Therefore, we conclude that

$$\operatorname{Re}\left(1 + \frac{zf''(z)}{f'(z)}\right) > \frac{\alpha(n+1)}{2.1} \quad (0 < \alpha < 1, n > 0, z \in D).$$

This completes the proof of Theorem 1.

Corollary 2. A function $f_{\alpha,n}(z)$ given by

$$f_{\alpha,n}(z) = \frac{z}{(1 - \sqrt{z})^n} \quad (n > 0, z \in D)$$

belongs to the class $S_{\frac{1}{2},n}^*\left(\frac{4-n}{4}\right)$ and $\mathcal{K}_{\frac{1}{2},n}\left(\frac{n+1}{4}\right)$.

Remark 1. In a special situation whereby $n = 1$, then the above result in Corollary 2.2 immediately yield the result due to Darus and Owa [2].

Theorem 3. Let the function $F_{\alpha,n}(z)$ given by (6) satisfies the following inequalities

$$\sum_{k=1}^{\infty} (k\alpha + 1 - \gamma) \prod_{j=1}^k \left(\frac{n+j-1}{j!}\right) |a_k| \leq 1 - \gamma \quad (7)$$

for some $\gamma(0 \leq \gamma < 1)$, $n > 0$ and $j \in N$. Then $F_{\alpha,n}(z) \in S_{\alpha,n}^*(\gamma)$.

The equality is attained for function $F_{\alpha,n}(z)$ given by

$$F_{\alpha,n}(z) = z + \sum_{k=1}^{\infty} \frac{(1 - \gamma)e^{i\pi}}{k(k+1)(k\alpha + 1 - \gamma) \prod_{j=1}^k \left(\frac{n+j-1}{j!}\right)} z^{1+k\alpha} \quad (8)$$

Proof. Let the function $F_{\alpha,n}(z)$ be of the form (6). If $F_{\alpha,n}(z)$ satisfies (7), then

$$\begin{aligned} \left| \frac{zF'_{\alpha,n}(z)}{F_{\alpha,n}(z)} - 1 \right| &= \left| \frac{\sum_{k=1}^{\infty} k\alpha \Pi_{j=1}^k \left(\frac{n+j-1}{j!} \right) a_k z^{k\alpha}}{1 + \sum_{k=1}^{\infty} \Pi_{j=1}^k \left(\frac{n+j-1}{j!} \right) a_k z^{k\alpha}} \right| \\ &\leq \frac{\sum_{k=1}^{\infty} k\alpha \Pi_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| |z|^{k\alpha}}{1 - \sum_{k=1}^{\infty} \Pi_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| |z|^{k\alpha}} < \frac{\sum_{k=1}^{\infty} k\alpha \Pi_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k|}{1 - \sum_{k=1}^{\infty} \Pi_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k|} \leq 1 - \gamma \end{aligned}$$

showing that $F_{\alpha,n}(z) \in S_{\alpha,n}^*(\gamma)$. Having considered $F_{\alpha,n}(z)$ of the form (6), we can see that

$$\begin{aligned} \sum_{k=1}^{\infty} (k\alpha + 1 - \gamma) \Pi_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| &= \sum_{k=1}^{\infty} \frac{1 - \gamma}{k(k+1)} \\ &= (1 - \gamma) \sum_{k=1}^{\infty} \left(\frac{1}{k} - \frac{1}{k+1} \right) = 1 - \gamma \end{aligned}$$

and this completes the proof of Theorem 3.

Theorem 4. *Let the function $F_{\alpha,n}(z)$ given by (6) satisfies the following inequalities*

$$\sum_{k=1}^{\infty} (k\alpha + 1)(k\alpha + 1 - \gamma) \Pi_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| \leq 1 - \gamma$$

for some $\gamma(0 \leq \gamma < 1)$, $n > 0$ and $j \in N$. Then $F_{\alpha,n}(z) \in \mathcal{K}_{\alpha,n}^*(\gamma)$.

The equality is attained for function $F_{\alpha,n}(z)$ given by

$$F_{\alpha,n}(z) = z + \sum_{k=1}^{\infty} \frac{(1 - \gamma)(1 + k\alpha)e^{i\pi}}{k(k+1)(k\alpha + 1 - \gamma) \Pi_{j=1}^k \left(\frac{n+j-1}{j!} \right)} z^{1+k\alpha}$$

Theorem 5. *Suppose that $F_{\alpha,n}(z)$ is of the form (6) with $\arg a_k = \pi - k\alpha\theta$ ($0 < \theta < 2\pi$). Then $F_{\alpha,n}(z) \in S_{\alpha,n}^*(\gamma)$ if and only if*

$$\sum_{k=1}^{\infty} (k\alpha + 1 - \gamma) \Pi_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| \leq 1 - \gamma \quad (9)$$

for some γ ($0 \leq \gamma < 1$), $n > 0$ and $j \in N$. The equality holds for function $F_{\alpha,n}(z)$ given by

$$F_{\alpha,n}(z) = z + \sum_{k=1}^{\infty} \frac{(1 - \gamma)e^{i(\pi - k\alpha\theta)}}{k(k+1)(k\alpha + 1 - \gamma) \Pi_{j=1}^k \left(\frac{n+j-1}{j!} \right)} z^{1+k\alpha}$$

Proof. Theorem 3 implies that if $F_{\alpha,n}(z)$ satisfies (9), then $F_{\alpha,n}(z) \in S_{\alpha,n}^*(\gamma)$. Next, we let $F_{\alpha,n}(z) \in S_{\alpha,n}^*(\gamma)$. Then

$$\operatorname{Re}\left(\frac{zF'_{\alpha,n}(z)}{F_{\alpha,n}(z)}\right) = \operatorname{Re}\left(\frac{1 + \sum_{k=1}^{\infty}(1+k\alpha)\prod_{j=1}^k\left(\frac{n+j-1}{j!}\right)a_k z^{k\alpha}}{1 + \sum_{k=1}^{\infty}\prod_{j=1}^k\left(\frac{n+j-1}{j!}\right)a_k z^{k\alpha}}\right).$$

If we consider $z = re^{i\theta}$, then we say that

$$\begin{aligned} \operatorname{Re}\left(\frac{zF'_{\alpha,n}(z)}{F_{\alpha,n}(z)}\right) &= \frac{1 - \sum_{k=1}^{\infty}(1+k\alpha)\prod_{j=1}^k\left(\frac{n+j-1}{j!}\right)|a_k|r^{k\alpha}}{1 - \sum_{k=1}^{\infty}\prod_{j=1}^k\left(\frac{n+j-1}{j!}\right)|a_k|r^{k\alpha}} \\ &= 1 - \frac{\sum_{k=1}^{\infty}k\alpha\prod_{j=1}^k\left(\frac{n+j-1}{j!}\right)|a_k|r^{k\alpha}}{1 - \sum_{k=1}^{\infty}\prod_{j=1}^k\left(\frac{n+j-1}{j!}\right)|a_k|r^{k\alpha}} > \gamma. \end{aligned}$$

It implies that

$$= \frac{\sum_{k=1}^{\infty}k\alpha\prod_{j=1}^k\left(\frac{n+j-1}{j!}\right)|a_k|r^{k\alpha}}{1 - \sum_{k=1}^{\infty}\prod_{j=1}^k\left(\frac{n+j-1}{j!}\right)|a_k|r^{k\alpha}} \leq 1 - \gamma.$$

That is

$$\sum_{k=1}^{\infty}(k\alpha + 1 - \gamma)\prod_{j=1}^k\left(\frac{n+j-1}{j!}\right)|a_k| \leq 1 - \gamma.$$

Therefore $F_{\alpha,n}(z) \in S_{\alpha,n}^*(\gamma)$ if and only if the coefficient inequality (9) holds true and this concludes the proof.

Similarly for the class $\mathcal{K}_{\alpha,n}(\gamma)$, we have the following interesting result of which the proof is similar to that of theorem 5.

Theorem 6. *Let function $F_{\alpha,n}(z)$ be of the form (6) with $\arg a_k = \pi - k\alpha\theta$ ($0 < \theta < 2\pi$). Then $F_{\alpha,n}(z) \in \mathcal{K}_{\alpha,n}(\gamma)$ if and only if*

$$\sum_{k=1}^{\infty}(k\alpha + 1)(k\alpha + 1 - \gamma)\prod_{j=1}^k\left(\frac{n+j-1}{j!}\right)|a_k| \leq 1 - \gamma$$

for some γ ($0 \leq \gamma < 1$), $n > 0$ and $j \in N$. The equality holds for function $F_{\alpha,n}(z)$ given by

$$F_{\alpha,n}(z) = z + \sum_{k=1}^{\infty} \frac{(1+k\alpha)(1-\gamma)e^{i(\pi-k\alpha\theta)}}{k(k+1)(k\alpha+1-\gamma)\prod_{j=1}^k\left(\frac{n+j-1}{j!}\right)} z^{1+k\alpha}.$$

For recent works on Radius problems, see [?] and [?] among others.

3. RADIUS PROBLEMS

Here, we examine the function $g_{\alpha,n}(z)$ given by

$$g_{\alpha,n}(z) = \frac{z}{(1 - z^\alpha)^n}, \quad (z \in D) \quad (10)$$

for some real $\alpha > 2$ and $n > 0$. Then, we say that $g_{\alpha,n}(z)$ neither belongs to class $S_{\alpha,n}^*(\gamma)$ nor $\mathcal{K}_{\alpha,n}(\gamma)$ for any real $\gamma(0 \leq \gamma < 1)$ and $n > 0$. Now using analytic function defined in (10), we obtain the following results.

Theorem 7. *Let function $g_{\alpha,n}(z)$ be of the form (10) with $\alpha > 2$ and $n > 0$, then*

$$Re\left(\frac{zg'_{\alpha,n}(z)}{g_{\alpha,n}(z)}\right) > \frac{1 - (n\alpha - 1)r^\alpha}{1 + r^\alpha} \quad (0 < |z| = r < 1). \quad (11)$$

Proof. For $g_{\alpha,n}(z)$ given by (10), we can see that

$$\frac{zg'_{\alpha,n}(z)}{g_{\alpha,n}(z)} = \frac{1 + (n\alpha - 1)r^\alpha e^{i\alpha\theta}}{1 - r^\alpha e^{i\alpha\theta}} = \frac{e^{-i\alpha\theta} + (n\alpha - 1)r^\alpha}{e^{-i\alpha\theta} - r^\alpha}$$

for $z = re^{i\theta}$. This implies that

$$\frac{zg'_{\alpha,n}(z)}{g_{\alpha,n}(z)} = \frac{1 + (n\alpha - 2)r^\alpha \cos \alpha\theta - (n\alpha - 1)r^{2\alpha}}{1 + r^{2\alpha} - 2r^\alpha \cos \alpha\theta}.$$

Now suppose that

$$h_{\alpha,n}(\rho) = \frac{1 + (n\alpha - 2)r^\alpha \rho - (n\alpha - 1)r^{2\alpha}}{1 + r^{2\alpha} - 2r^\alpha \rho}$$

where $\rho = \rho \cos \alpha\theta$. Obviously,

$$h'_{\alpha,n}(\rho) > 0.$$

Therefore

$$Re\left(\frac{zg'_{\alpha,n}(z)}{g_{\alpha,n}(z)}\right) > \frac{1 - (n\alpha - 1)r^\alpha}{1 + r^\alpha}.$$

Corollary 8. Let function $g_{\alpha,n}(z)$ be of the form (10) with $\alpha > 2$ and $n > 0$, then

$$\operatorname{Re}\left(\frac{zg'_{\alpha,n}(z)}{g_{\alpha,n}(z)}\right) > \gamma \quad (0 \leq \gamma < 1) \quad (12)$$

for $0 < |z| \leq \left(\frac{(1-\gamma)}{\gamma+n\alpha-1}\right)^{\frac{1}{\alpha}} < 1$.

Proof. Let

$$\operatorname{Re}\left(\frac{zg'_{\alpha,n}(z)}{g_{\alpha,n}(z)}\right) > \frac{1 - (n\alpha - 1)r^\alpha}{1 + r^\alpha} \geq \gamma.$$

Then

$$0 < r \leq \left(\frac{(1-\gamma)}{\gamma+n\alpha-1}\right)^{\frac{1}{\alpha}} < 1.$$

Remark 2. (1.) Suppose $\gamma = 0$ in (12). Then

$$0 < |z| \leq \left(\frac{1}{n\alpha - 1}\right)^{\frac{1}{\alpha}} < 1.$$

and if $\gamma = \frac{1}{2}$, then

$$0 < |z| \leq \left(\frac{1}{2n\alpha - 1}\right)^{\frac{1}{\alpha}} < 1.$$

(2.) Suppose $\gamma = 0, n = 1$ and $\gamma = \frac{1}{2}, n = 1$ in (12). Then

$$0 < |z| \leq \left(\frac{1}{\alpha - 1}\right)^{\frac{1}{\alpha}} < 1.$$

and

$$0 < |z| \leq \left(\frac{1}{2\alpha - 1}\right)^{\frac{1}{\alpha}} < 1$$

respectively. This result is due to Darus and Owa [2].

(3.) Suppose $\gamma = 0, n = 2$ and $\gamma = \frac{1}{2}, n = 2$ in (12). Then

$$0 < |z| \leq \left(\frac{1}{2\alpha - 1}\right)^{\frac{1}{\alpha}} < 1.$$

and

$$0 < |z| \leq \left(\frac{1}{4\alpha - 1}\right)^{\frac{1}{\alpha}} < 1$$

respectively.

4. PARTIAL SUMS

We conclude this paper by discussing the partial sums of function $F_{\alpha,n}(z)$ given by (6). So, in view of (6), we have that

$$F_{\alpha,n}(z) = z + \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) a_k z^{1+k\alpha} \quad (k = 1, 2, 3, \dots \text{ and } j \in N) \quad (13)$$

for some real α ($0 < \alpha \leq 2$), $n > 0$. Next is the result on partial sums.

Theorem 9. *Let $F_{\alpha,n}(z)$ be given by (13) with $|a_k| \leq 1$ and $n > 0$. Then*

$$\operatorname{Re} \left(\frac{zF'_{\alpha,n}(z)}{F_{\alpha,n}(z)} \right) > \frac{1 - (1+k\alpha)\prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k|}{1 - \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k|} \quad (z \in D) \quad (14)$$

and

$$\operatorname{Re} \left(\frac{zF'_{\alpha,n}(z)}{F_{\alpha,n}(z)} \right) \geq \frac{1 - (1+k\alpha)\prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) r^{k\alpha}}{1 - \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) r^{k\alpha}} \quad (|z| = r < 1). \quad (15)$$

Proof. It is trivial to see that

$$\begin{aligned} \operatorname{Re} \left(\frac{zF'_{\alpha,n}(z)}{F_{\alpha,n}(z)} \right) &= \operatorname{Re} \left(\frac{1 + (1+k\alpha)\prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) a_k z^{k\alpha}}{1 + \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) a_k z^{k\alpha}} \right) \\ &= \operatorname{Re} \left(1 + \frac{k\alpha \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) a_k z^{k\alpha}}{1 + \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) a_k z^{k\alpha}} \right) \\ &= 1 + \operatorname{Re} \left(\frac{k\alpha \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| r^{k\alpha} (\cos(k\alpha\theta + \psi) + i \sin(k\alpha\theta + \psi))}{1 + \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| r^{k\alpha} (\cos(k\alpha\theta + \psi) + i \sin(k\alpha\theta + \psi))} \right) \end{aligned}$$

where $a_k = |a_k|e^{i\theta}$ and $z = re^{i\theta}$. Then, we have that

$$\begin{aligned} \operatorname{Re} \left(\frac{zF'_{\alpha,n}(z)}{F_{\alpha,n}(z)} \right) &= 1 + \frac{k\alpha \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| r^{k\alpha} \cos(k\alpha\theta + \psi)}{1 + \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| r^{k\alpha} \cos(k\alpha\theta + \psi)} \\ &= 1 + \frac{k\alpha \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| r^{k\alpha} [\prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| r^{k\alpha} + \cos(k\alpha\theta + \psi)]}{1 + 2\prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| r^{k\alpha} \cos(k\alpha\theta + \psi) + \left[\prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) \right]^2 |a_k|^2 r^{2k\alpha}}. \end{aligned}$$

Now, setting

$$h(t) = \frac{\prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| r^{k\alpha} + t}{1 + 2\prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| r^{k\alpha} t + \left[\prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) \right]^2 |a_k|^2 r^{2k\alpha}}$$

where $t = \cos(k\alpha\theta + \psi)$, then $h'(t) > 0$ with $|a_k| \leq 1$. Thus

$$\operatorname{Re} \left(\frac{zF'_{\alpha,n}(z)}{F_{\alpha,n}(z)} \right) > 1 - \frac{k\alpha \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| r^{k\alpha}}{1 - \prod_{j=1}^k \left(\frac{n+j-1}{j!} \right) |a_k| r^{k\alpha}} \quad (0 \leq r < 1). \quad (16)$$

Making $r \rightarrow 1$ in (16), we obtain (14) and letting $|a_k| = 1$ in (16), we obtain (15). For recent work on Partial Sums, interested reader can see among others, Darus and Ibrahim [1], [2] Darus and Owa [2] and Hayami *et al.* [7].

REFERENCES

- [1] M. Darus, R. W. Ibrahim, *Partial Sums of Analytic Functions of Bounded Turning With Applications*, Computational and Applied Mathematics, 29, 1 (2010), 81-88.
- [2] M Darus, S. Owa, *New Subclasses Concerning Some Analytic and Univalent Functions*, Chinese Journal of Mathematics, Article ID4674782, (2017), 4 pages.
- [3] P. L. Duren, *Univalent Functions*, vol. 259, (1983), Springer-Verlag, New York, Berlin, Heidelberg, Tokyo.
- [4] A. W. Goodman, *Geometric Theory of Functions, vol. I and II*, Mariner, Tempa, Fla, USA, 1983.
- [5] J. O. Hamzat, R. M. El-Ashwah, *Application of a Subordination Theorem Associated with Certain New Generalized Subclasses of Analytic and Univalent functions*, J. Egyptian Mathematical Society, 28:33 (2020), 1-10. <https://doi.org/10.1186/s42787>
- [6] J. O. Hamzat, M. T. Raji, *Coefficient Problem Concerning Some New Subclasses of Analytic and Univalent Functions*, J. Fractional Calculus and Applications, Vol. 11, 1, (2021), 91-96.
- [7] T. Hayami, K. Kuroki, E. Y. Duman, S. Owa, *Partial Sums of Certain Univalent Functions*, Applied Mathematical Sciences, vol. 6, 13-16,(2012), 779-805.
- [8] I. S. Robertson, *On the Theory of Univalent Functions*, Annals of Mathematics. Second Series, vol. 37, 2 (1936), 374-408.

Hamzat Jamiu Olusegun
Department of Mathematics, Faculty of Science,
University of Lagos,
Lagos, Nigeria
email: *jhamzat@unilag.edu.ng, emmanther2012@gmail.com*

Olaleru Johnson
Department of Mathematics, Faculty of Science,
University of Lagos,
Lagos, Nigeria
email: *jolaleru@unilag.edu.ng*